Negatiiviset eksponentit 10

1003 =
472,3 x 1072 =
100D =

103 =
%1002 =
7x10° =

545,6 x 1001 =
6x 10 =

8 x 10% =

6x 107 =

Paivamédara: _ Pisteet: __
472,5x 1001 =
3% 10=
2% 1003 =
1 x10=
672,6+ 1002 =
549,8 x 107Y =
6x 1002 =
2x10° =
—3x10° =

493, 7+ 10% =
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g E R [Q) & Negatiiviset eksponentit 10

Nimi: Paivamaara: _ Pisteet:
107 = 0.001 472,5 % 1000 =47.25
472,3 x 102 =4.723 3% 10 =30
1077 = 0.1 2% 107 = 0.002
107 = 0.001 1x10=10
-2x 1072 =-0.02 672,6+ 1072 = 67260
7x10° =7 549, 8 x 100 = 0.05498
545,6 x 1079 = 54.56 6 x 1072 = 0.06
6 x 10 = 60 2 x 10* = 200
8 x 10% = 800 —3 x 10* = -300
6 x 107 = 0.006 493,7 + 10* = 4.937
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